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61 243 Rooms Division Management

Final Exam Answer Sheet

1. What is the order of cleaning rooms in a hotel? (I.e. In which sequence rooms shall be cleaned?). Why? (3 Points)

Answer: The housekeeping department shall clean in order:

a) Rooms for new Arrivals

b) Stayover rooms

c) Vacant rooms

The housekeeping department shall clean first rooms for new arrival before the start of the standard check-in time and in response to the probability that some guests might arrive earlier. Later, the housekeeping department shall clean already occupied rooms. Lastly, clean rooms which are or became vacant that day.

2. Hakan Resort Hotel is a hotel consisting of 216 deluxe rooms, 77 of them are single, 105 are double and the remaining are triple rooms. The hotel opened first its doors on 2003, with a total cost of $ 19,000,000 including working capital. Upon the preparation of year 2005 budget, the Rooms Division manager has to come up with the Single Rack Rate, Double Rack Rate and Triple Rack Rate for the coming year. The following undistributed expenses and fixed charges have been provided from the Management Information Department of Hakan Resort Hotel (all estimates for 2005):
	Expense Type
	Amount
	Allocation to Rooms Division (%)

	Administrative & General
	$ 3,750,000
	35 %

	Utility
	$ 605,000
	60 %

	Debt
	$ 143,000
	42 %

	Depreciation
	$ 250,800
	57 %

	Rent
	$ 150,400
	70 %

	Marketing
	$ 350,760
	68 %

	Maintenance
	$ 189,010
	63 %

	Insurance
	$ 163,600
	45 %


Furthermore, assume that:

· The 2005 forecasted hotel occupancy: 83.69 %
· The 2005 forecasted single occupancy: 83 %
· The 2005 forecasted double occupancy: 87 %
· The 2005 forecasted triple occupancy: 75 %
· The estimated single daily Direct Expense per occupied room: $ 10.
· The estimated double daily Direct Expense per occupied room: $ 12.5.

· The estimated triple daily Direct Expense per occupied room: $ 15.

Lastly, Hakan Holiday Village desires to have: 
· 55 % markup on costs for single rooms

· 75 % markup on costs for double rooms

· 68 % markup on costs for triple rooms

	Expense Type
	Amount
	R.D (%)
	Allocation to R.D.

	Administrative & General
	$3,750,000 
	35%
	$1,312,500.00

	Utility
	$605,000 
	60%
	$363,000.00

	Debt
	$143,000 
	42%
	$60,060.00

	Depreciation
	$250,800 
	57%
	$142,956.00

	Rent
	$150,400 
	70%
	$105,280.00

	Marketing
	$350,760 
	68%
	$238,516.80

	Maintenance
	$189,010 
	63%
	$119,076.30

	Insurance
	$163,600 
	45%
	$73,620.00

	Total
	$5,602,570 
	N/A
	$2,415,009.10


· Total Number of Single rooms expected to be occupied (2005): 77 * 0.83 * 365 = 23,327.15 rooms.
· Total Number of Double rooms expected to be occupied (2005): 105 * 0.87 * 365 = 33,342.75 rooms.

· Total Number of Triple rooms expected to be occupied (2005): 34 * 0.75 * 365 = 9,307.50 rooms.
· Total Number of rooms expected to be occupied (2005) = 23,327.15 + 33,342.75 + 9,307.50 = 65,977.40 rooms.

· Per occupied room per day indirect expenses = $ 2,415,009.10 / 65,977.40 = $ 36.60. 
a) What is Hakan Resort Hotel Single Hurdle Rate? (2 Points)

· Single Hurdle Rate = 36.60 + 10 = $ 46.60.

b)  What is Hakan Resort Hotel Double Hurdle Rate? (2 Points)

· Double Hurdle Rate = 36.60 + 12.5 = $ 49.10.

c) What is Hakan Resort Hotel Triple Hurdle Rate? (2 Points)

· Triple Hurdle Rate = 36.60 + 15 = $ 51.60.

d) Could you interpret the results found in part a), b) and c)? (1 Point)

Results found in parts a), b), and c) refer to the minimum room rates that Hakan Resort Hotel shall set for their single, double, and triple rooms. In deed, if we sell our rooms at less than the above mentioned prices, we would be rather selling at a loss!
e) What is Hakan Resort Hotel Single Rack Rate? (1 Point)

· Single Rack Rate: 46.60 * 1.55 = $ 72.23.
f) What is Hakan Resort Hotel Double Rack Rate? (1 Point)

· Double Rack Rate: 49.10 * 1.75 = $ 85.93.
g) What is Hakan Resort Hotel Triple Rack Rate? (1 Point)

· Triple Rack Rate: 51.60 * 1.68 = $ 86.69.
h) Suppose that Hakan Resort Hotel wants to increase Triple room sales by discounting the Triple Rack Rate by 7 %. Could you help management find the Triple Equivalent Occupancy Rate? (2 Points)

· Triple Equivalent Occupancy = 0.75 * [(86.69 – 15) / ((86.69 * 0.93) – 15)] = 81.94 %.
i) Could you interpret the result you found in part h)? (1 Point)

For Hakan Resort Hotel’s profitability not to be hurt with discounting, the occupancy level shall increase from 75 % to al least 81.94 %.
Assume that the price differential between single and double is $ 13.70 and the price differential between double and triple is only $ 0.76, according to the Rule-of-thumb pricing approach, what should be:
j) The average room rate? (2 Points)
· Average Room Rate = [$ 19,000,000 / (216 * 1,000)] = $ 87.96.

k) The Single Rack Rate? (4 Points)
· Number of rooms expected to be sold daily: 216 * 0.8369 = 180.76 rooms.

· Number of Single rooms expected to be sold daily: 77 * 0.83 = 63.91 rooms.

· Number of Double rooms expected to be sold daily: 105 * 0.87 = 91.35 rooms.

· Number of Triple rooms expected to be sold daily: 34 * 0.75 = 25.5 rooms.
· Let x be single rack rate.
[63.91 * x] + [91.35 * (x + 13.70)] + [25.5 * (x + 13.70 + 0.76)] = 180.76 * 87.96 ↔

180.76 x + 1,251.495 + 368.73 = 15,899.65 ↔ 180.76 x + 1,620.225 = 15,899.65 ↔

180.76 x = 15,899.65 – 1,620.225 ↔ 180.76 x = 14,279.425 ↔ x = $ 79.00.
l) The Double Rack Rate? (1 Point)
· Double Rack Rate = $ 79 + $ 13.70 = $ 92.70. 

m) The Triple Rack Rate? (1 Point)
· Triple Rack Rate = $ 92.70 + $ 0.76 = $ 93.46.

n) Could you come up with reasons behind the difference between rack rates using the different pricing approaches (i.e. Cost Approach & Rule-of-thumb approach)? (2 Points)
Answer: Rule-of-thumb approach:

1. Fails to consider the contribution of other facilities and services towards the hotel’s desired profitablity
2. Assumes a ceratin level of occupancy rate (In this case we are at an 83.69 % not 70 %) 
3. Zitouni Hotel's historical room nights for the past 10 years are depicted below:

	Year
	Room Nights

	1
	450,000

	2
	468,000

	3
	526,000

	4
	589,000

	5
	510,000

	6
	534,000

	7
	621,000

	8
	687,000

	9
	746,000

	10
	823,000


Could you forecast Year 11 room nights (round to the nearest whole number) using:

a) Percentage Growth Method? (3 Points)

· Total Percentage Change = [(823,000 – 450,000) / 450,000] * 100 = 82.89 %
· Yearly Percentage Change = 82.89 % / 10 = 8.29 %
· Year 11 Forecasted Room Demand = 823,000 * (1 + 8.29 %) ≈ 891,218 Room Nights.

b) Triple Moving Average Method? (Don’t forget to fill the table!!) (4 Points)

	Year
	Room Nights
	Triple Moving Average

	1
	450,000
	--------------

	2
	468,000
	--------------

	3
	526,000
	481,333.33

	4
	589,000
	527,666.67

	5
	510,000
	541,666.67

	6
	534,000
	544,333.33

	7
	621,000
	555,000.00

	8
	687,000
	614,000.00

	9
	746,000
	684,666.67

	10
	823,000
	752,000.00


· Total Percentage Change = [(752,000 – 481,333.33) / 481,333.33] * 100 = 56.23%
· Period Percentage Change = 56.23 % / 8 = 7.03 %
· Years’ 9-10-11 Forecasted Triple Moving Average = 752,000 * (1 + 7.03 %) ≈ 804,858.73 Room Nights.

· Year 11 Forecasted Room Demand = (804,858.73 * 3) – (746,000 + 823,000) ≈ 845,576 Room Nights.
c) Post to running a regression analysis on the above data, the line that best fits the data turned out to have the following equation:

Room Nights = 37,745.4545 * Year + 387,800

Could you forecast Year 11 demand in room nights using the above given regression analysis? (1 Point)
· Year 11 Forecasted Room Demand = (37,745.4545 * 11) + 387,800 ≈ 803,000 Room Nights.
4. Fevziye Hotel has 145 rooms: 40 are triple, 70 are double and the remaining is single. On the night of April 11th, 04 the night auditor counted 106 rooms occupied, 25 are triple, 62 are double, and the remaining are single. Moreover, the night auditor reported, on the same night, 203 guests registered in the hotel, 184 of them occupy either a double or triple room. Moreover, Fevziye Hotel’s night auditor counted 87 rooms occupied by more than 1 guest. In addition, the housekeeping department communicated 6 rooms (1 single, 3 double, and 2 triple) out of order for the night of April 11th, 04. Lastly, the night auditor reported 7 complimentary rooms and calculated that very night’s room revenue to be $ 15,306. 
a) What is Fevziye Hotel's Occupancy Rate for the night of April 11th, 04? (1 Point)

· Hotel Occupancy = 106 / (145 - 6) * 100 = 76.26 %.
b) What is Fevziye Hotel's Single, Double, and Triple Occupancy rates for the night of April 11th, 04? (3 Points)

· Single Occupancy = 19 / (35 - 1) * 100 = 55.88 %
· Double Occupancy = 62 / (70 - 3) * 100 =  92.54 %
· Triple Occupancy = 25 / (40 - 2) * 100 = 65.79 %
c) What is Fevziye Hotel’s Multiple Occupancy for the night of April 11th, 04? (1 Point)

· Multiple Occupancy = 87 / 106 * 100 = 82.08 % 
d) What is Fevziye Hotel’s Average Guest per Room Sod? (1 Point)

· Average Guest Per Room Sold = 203 / (106 - 7) = 2.05 Guest / Room Sold
e) What is Fevziye Hotel’s Average Daily Rate? (1 Point)

· Average Daily Rate = $ 15,306 / (106 - 7) = $ 154.61 / Room Sold
f) What is Fevziye Hotel’s Average Rate per Guest? (1 Point)

· Average Rate Per Guest = $ 15,306 / 203 = $ 75.40 / Guest.
5. What are the drawbacks of the using the “Market Condition” Approach as a pricing approach? (3 Points)

· Some drawbacks of the “Market Condition Approach” are:

a) This approach does not take into consideration the value of the property

b)  This approach does not take into consideration what a strong sales effort may accomplish.
c) There is always subjectivity in coming up with sets of criteria against which hotel rooms can be compared and measured for similarity!
